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APP-1029

M.A. (Previous) Examination, 2022
ECONOMICS
Paper - III

(Economic Statistics and Mathematics)

Time : 3 Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries

Note —

M —

2 marks.

(@us—3) (3k : 2 x 10 = 20)
Tt T/ e & S ST (SW-EE 50 IS) | Yo WY 2 3 T |
Section-B (Marks : 7 x 5 = 35)

Answer all five questions. Each question has internal choice (Answer limit
200 words). Each question carries 7 marks.

(Tus-9) (3F® : 7 x 5 = 35)
T Ofer el % S SIfNU | TS 9§ foeheq @1 e #ifeg (Sw-dmE
200 ¥IsT) | TOF Y9 7 3TH H T

Section—C (Marks : 15 x 3 = 45)

Answer any three questions out of five (Answer limit 500 words). Each
question carries 15 marks.

(Tus-—|) (3% : 15 x 3 = 45)
o= | § fegl 9 9v & St SifST (SW-Hm 500 Is) | Yo 99 15 37
Ealkd
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Section—A (GUS-3) 2 each
1. Answer the following questions :

freafafea g & W ST
(1) Difference between population and sample.

T qen yfaee § 9%
(i)  If arithmetic mean is 5 and geometric mean is 4, find the harmonic mean.

I FHR WA 5 SR IO AIET 4 ¥, O ecAE HIST [ ST |
(ii1))  Give two differences between dispersion and skewness.

sTafertor SR foomar & He |1 <R SaEu|
(iv) How correlation is calculated from regression coefficients ? (Give formula)

YA TOE § HeTwry fRd YeR ¥ F@ fRe S T 2 (§9 9aEn)

(v)  Which index number is regarded as ideal index number ? Why ?
e Fohier 1 ARY gEHH AE W@ ¥ 2 H 2
(vi)  Utility of interpolation to a businessman.
T O & AU AT T ST |
(vii) Write any fwo importances of time series analysis.
FH@A g0 faveso & &E & "ea fafem)
(viii) Assumptions of F-Test.
F-udteqor &t A= |

d
(ix) Find d—z, ify =8+ 62+ 9 — 84,

wﬁy:8+6x2+9£—8x5€r,aﬁj—zamﬁm|

(x)  Calculate the value of the following determinant :

0 2 1

A=/1 1 0

2 01
frefafed arfors =1 79 3@ SIS .
0 2 1

A=/1 1 0

2 01
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Section-B (WUS-4) 7 each
2. In a class, average weight of 150 students is 80 kilograms. The average weight of
the boys and girls is 85 kilograms and 70 kilograms respectively. Find out the
number of the boys and girls in the class.

T el | 150 foenfeEi o1 ofma wr 80 fohum &1 el H wgeh! qun oisfhdl o e
YR HHYT: 85 T den 70 fm &1 wen § oiSeh! qu1 oigfwal &l 98 [d Sy |

Or (37d)

Calculate median and quartiles from the following data :

No. of Flowers | 5 6 7 8 9 10 11
No. of Plants | 15 18 25 30 12 8 7
frfafe Tusi 9 Teeht o aqdsi &t TET ST

el ot el | 5 6 7 8 9 10 11
diet @ @en | 15 18 25 30 12 8 7

3.  The arithmetic mean and standard deviation of a series having 20 items are 20
and 5 cm. respectively. At the time of calculation the mean of the one item was
misread as 30 instead of 13. Find the correct mean and correct S.D.

T 20 WS el it & goR H@ieT qen guY faeer & ged wEe: 20 SR 5 A ¥
TR STTHTH A TG TH 9 T 9e9 13 ®, 9o 9 30 g fomn T oma: g9mR
e 9 g9 foeem & s qod A1 it

Or (319

20% workers of a factory are under risk of infection from a particular disease.
What is the probability that at least 4 out of 6 employees are infected by the
disease ?

Also obtain frequency distribution of desired infected workers, if 62,500 workers

work in the factory.

TH HREH | HH FHH A 20 T wH=E B TH ey W 29w e ¥
qTfehdl A HISY fF HREM § 0 0 a6 6 FHAREA 7 T 4 27 399 s wear
TR B |

g HREM § |/A 62,500 AHF FERG €, T A WG ST HEA [ H I |
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4. From the following data, estimate the numbers of workers getting monthly
salary between ¥ 400 and X 500 :

Monthly Income (3) | 0-200 0400 0-600 0-800 0-1000

No. of Workers 150 250 330 380 400
=1 "5ehl 9 T 400 3R T 500 & 9 HIHE 3T G S ol SR 1 G &
HTHM EY

wifaes 3™ (X W) 0-200 0-400 0-600 0-800 0-1000
siftenl &t wE 150 250 330 380 400
Or (31gra)

The following data relate to literacy and unemployment in a group of 500
persons. You are required to calculate Yule’s coefficient of association between

literacy and unemployment :
[literate unemployed—220
Literate empolyed—20

[literate employed—180

frafafea Tt 500 =fwml § WaRa aon JFK § gt T TEE ST Taar q
THERT T A F O T [ONF q0A I
FRER SeHR—220
H& ISR Jrai— 20
ReR ISR 91— 180
5.  Write short notes on the following :
(1) Components of time series
(ii)) Long-term trend
frafafeq w dfva § fewforr fafen .
() & AUt & GESH

(i) <rEwEE gt
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Or (3191a)
Ten workers of a factory were selected at random. The number of units
produced by them on a working day was as follows :
71, 72, 73, 75, 76, 77, 78, 19, 79, 80
On the basis of the given data it is reasonably correct to say that the mean

number of units produced by them is 78. (for V. = 9, ., = 2.262).
forelt FREM & gfas # ¥ 10 sfas agssa 97 ™| fFE 1 wrifed W s2m S

el w1 S foRan At wEn frefatea o

71, 72, 73, 75, 76, 71, 78, 79, 19, 80

3 G o YR T 78 el Stad ¢ foh Taite § Scurfea aegeli & e 78 §1 (W=
& 9 & fou w1 5% Srem 9 2.262 ®) |

Find out AB and BA :

AB @91 BA feh1eiE

Integrate the following :

(aWa

HHleh A onllsiU ¢

3x2
OO {E]dx

(i) [logxdx

(i) [(6x" +9x+5)dx

BR-341 ( 5 ) APP-1029 PTO.



Section-C (WUS-¥) 15 each
7. From the following data calculate mean, median and mode :
Wages in 3 No. of Persons
Under 8 5
Under 16 12
8-24 29
24 and over 31
3240 8
40 and over 19
48 and over S
Mt TH% 9 THRR 7T, A a1 Jfass® q[ Hie
Tl T R el @ e
8 & = 5
16 9 = 12
8-24 29
24 a1 ek 31
3240 8
40 qen R 19
48 a1 e 5 5,5,5

8.  An investigation with the demand for Television sets in 7 towns has resulted in
the following data :

Population (000’s) X

No. of T.V. Sets demanded Y

11
14
14
17
17
21
25

15
27
27
30
34
38
46

Fit a linear regression of Y on X and estimate the demand of TV sets for a town
with a population of 30 thousand.
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I TR | SeifosT < ® AT & vy § fry e wdem 9 e wwe uw ge ©

THEE (000%s) X et dem Wt W Y
11 15
14 27
14 27
17 30
17 34
21 38
25 46

Y #1 X W WA @I G FHER TG HIS a4 Tk TR H A Fe® F A

FH1 ATHA Y, SR SHEE 30 TR A 10,5

9. Calculate the Fisher’s formula the price Index Number from the following data :

2018 2019
Articles
Price Total Value Price Total Value
I S 50 4 48
I 8 48 7 49
111 6 18 S 20
AR & ¥ g ffafed 99 § ®iad Yook 9 S
. 2018 2019
au g
kSl % " kSl Rl HH
I S 50 4 48
I 8 48 7 49
x 6 18 S 20
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10. Fit a trend line to the following data by least square method taking 2016 as

origin :
Years Production of Sugar in 000 Quintals
2012 77
2014 88
2015 94
2016 85
2017 91
2018 98
2021 20
frefafed S99l 9 2016 1 STTHR T =Aa9 & fafy g/ T 3@ ST 98H
HIfST
a5 = T Sare 000 faaeer W
2012 77
2014 88
2015 94
2016 85
2017 91
2018 98
2021 920

11. Solve the following equation by Cramer’s rule :
2x -3y + 5z =11
Sx + 2y —T7z=-12
Ax +3y+z=5
frefafed wfien w1 wR fa 9 53 Fie
2x -3y + 5z =11
-12

Sx + 2y — 7z
—4x + 3y +2z=5
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